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# SALZER)E

import numpy as np

from sklearn.model selection import train test split

from sklearn.linear model import LogisticRegression

from sklearn.metrics import accuracy score, confusion matrix

# QIEIIEE

X = np.array([[25, 5000071, [35, 600001, [45, 7000071, [55, 800007,
[65, 90000]11])

y = np.array ([0, 0, 1, 1, 11)

# K572 ER A

X train, X test, y train, y test = train test split(X, vy,
test size=0.2, random state=42)

# QIEZREeTE

model = LogisticRegression ()

# 5 pEE
model.fit (X train, y train)

# f/ﬁﬁfﬂ/[ﬁ//\
y pred = model.predict (X test)

# TR
print ("Accuracy:", accuracy score(y test, y pred))
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print ("Confusion Matrix:\n'", confusion matrix(y test, y pred))
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# BRI

from sklearn.metrics import precision score, recall score

Nk

¢ EEERIEEE

precision = precision score(y test, y pred)

recall = recall score(y test, y pred)
# F17%]7
fl1 = 2 * (precision * recall) / (precision + recall)

# Bt G 2R

print ("Precision:", precision)
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